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1 t3riqncjrurulfin f (x)- *nrl -xn -x*1 mruarn?d (*-r)2
P(*)= *n*1 -xn -x+1

= *o (*-t)-(x-t)
= (x-r)(x" -r)
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P(x) = *n*1-*n

n-l_*n-2*rn-3

-x+1 mruarn?d

-...-1)

(*-r)2.t .t
nJUU,

0,5

2 ff3ffntdfiruon s=$ xi 
-

L,o l-3x, + 3xf
ncu

i
101

xi

(*)'101s=I
i=0

101 .3
I 101I is

/ . \ / . r2
r-3[-]- l+sl-L I(101/ [10] /

_ \i.- *nt - 3(102)'zi + 3(101)i'z ft ltot-i;3 +i3

0,5

13 23 5or ._ slr _r r gg3 loo3:_*_ 
=l-..._r_ i .. *.^"- =iI1003+13 

'ggr +23 "''513+503 
503+513 

'"" 
23 +gg3 13+1003 '.

0,5

, 13 loo3 zr gg3 503 513
= (roo1p - 

1, +l0d)+(rr, *rs 
+ z\gg')+"'+(5f +50, 

* *t*rr, ) = 5l 0,5

3
Ao)
63r34ndr Hufiu: xzcosx+xsinx = -l Jelrlufieeruii3?afiu?u R

?dcirar

tmua'l

f (*) = *2.or* * xsinx * I
f (o)= 1, s
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4 {'3qonrnleiqaeg x eqn5uffuus5uon:

(x+I)+(x+4)+ ... +(x + 28) = 155
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ri'rt {q orfrcr6"at r.la a3 #u ffu znv5u cn

sBqB: x+28=xrL+(n-l)d
x+28=x*t+(n-t)3

qautd n=10

B, = flr +(n-1)d 0,5
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sBeS 155:
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q9ut6i a: k.Ao b = k.B ,

a *b *c*d
=[

A+B +C+D
c=k.C, d=k.D
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eBqtd:

Jua+Jns+J"c*Jao
=.,ffi+Jr<gi +Jr.c *Jkf
= Jx(a+B+c+n)'
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l'(a+b+c+d).=./]:_j_j-ll/(,t+g+C+D),
Ya+B+C+D'

-V(urb*c*dXA+B+C+D)
ffr,fr, Jul + Jne + J"c + Jao =
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rBrtri: a, (r + r* r2 ) = r..........(r)

tBr.ri: ilr*ze *ar:1259

s&tri: u, (ru +rs +ru)= t2S0..........(2)

t6r (z)+(t) cSrtri: ra = 625 = r = *5

- e6t r = 5 mmu?Ri (1) cBrtri:
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a.=-'31
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A- , az+b'+c'{)Ugocl: cotanA*cotanB *cotanC = 
+S

B3n,ruflnenutnfiusBqfr: a' :b2 +c2 -2bccosA

: b' +c' -2bcsinA 
cosA

sinA

= b' + 
"' - 

4s.otarA (1) suquiq S : l bcsinA
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o'cu5fio"Jan-ufrsBqrisuto': b' = a' +c'-4ScotanB (2) 0,5

c' = a'+bz -4ScotanC (3) 0,5

eBr (t)+(z)+(s) eu"rnfiuqnsBrto':

a' + b' * c2 = 2 (a' + bz + c' 
) - +S (cotanA * cotanB + cotanC)

qsut6r' cotanA * cotanB * cotanC - a' +b' + c'
4S
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